
                           

���� ����  

���� 	
 
���������  

  

	 ���� 
�����
������  


����
 
����
 
��
  

  

�������� ���	
�� �
� 


����
 ����  

������ ���� ������
� 
�� 
���� ��
 
�	������� 
����� �����.  

�
 
�
���� �	
 
������ ������ ����:  

1. � ��	� 	��� �	 ��� 	� 
���� 
���
�� �
���
� ����� ��� 	���. 

2.  ��� ��	� 	���� ���F
�

 � 
��
�
 
���
� ����"  �amF
��

=. 

3. ���
 ����� 
��� 	��� 	�� 
���
 ��� ���� ��� 	� ����. 

  

�		
 �����
 
� ��� ����	 ���	� 
�
���� 
������:  

1. 
�
� ��� ���� �����
 ���
 ,������ 
����� 	� ��
���
� �����
��	�. 

2. 
���	 ����� ���
 ���
 
� , 
��� ��� 	� �
���
�� 
��� ��
 
�������
 �
���� ��


	���� .  

 ��
 
� ��� ���	 
��� 
���� �	 ����
dt

pd
F

�
�

= , ����vmp
��

= ��

 ��
 , ��
�


���� 
���� ���� ����� 	���.  

 �����
 	� ����	 ���� ���
dt

pd
F

�
�

= , ��

 	� 
��� 
���
 ��p
�

.  

 �������
 	����� ��� 
�

 ��

 
���
)
����� 
�����
� ( 
��� ��	���vmp
��

=.  


������ 
�

 
���
 ��
���
� ��� � 
��� �	-vmp
��

= ,� ��

 ����� ���� ����

����
�.  
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3. 
��
 ���� ���	�
 ��� ,
�
���� 
������ 
���� 
��� 
����	����� ���� �� , 	����

 ��� �
��� 
���� 

�� 	� ��	���� 
����	 ���
 
�)�	� ,	��	 , ���� ��	���
 
����

��� �
�� 	� ����� 
���� .(  

 

  

�
�� ���� �	���  

�� �� ,�
 	� 
� �� ����	� 
� 
� ������ ��
 ���	 ��
 
����

����
 
� , ��
	 �����


����� 
�����
� 	� 	���� �������
 ,���������� ������
 ����� ���.  

  

�
�� 
��� :  

���
 
���
� ����� ��� ���� �
��� ��
 ��� 	� ��

� ���� ��� .  

�����
 ����
 ����
 �
�� ��
 �� 
��
	 
���

 ,
���	 �����	� 	���� ����� ����
 . ���� 	�

 ���� ���
���	 ����.  

  


��
 :
������ 
���� 
���� 
���	 
���� ��
 
� ����� , ��	��
 ��� �� 	� 
��
��


������	� 
��
	 ��	��� 
���� ������
 . 
���� ����
 ����
 ��
 ���
 	� 
���
�
 ����� ����

)���	� ,����� ������ ��� ,�	��� 
�� 	� 
� ���� ,�������� 
���� ,����� ��� ,���'( , ���� 
�

 �����	� ����� 	� 	� ����
 
��
	)
� 
���� ,��
 .(  

  

 �����
�� :  


���� 
���
�� ,	 ����	 ��

 	��� 	� -mv  .
�
��� 
�����
�� 
��� 
��
	 	��� ��
 ��.  

  

 ��
 
	� ����
 �	��� �����  

vmvfp
��

)( 2=  

 ����)( 2
vf  
������ ��
 
�����
   
����1)0( =f.  

)������ , �� ����� �� �� 	��
� �������
 �����
f(v
2�0) �1  , �� 
���� 
��
	 
	 ������

� 
���� �	-0 .
	��
 ��� ��
 
�����
 ��� ��� �� . ������ ��	f(0)=1  ����f(v
2
) 
����(.��

  

�� 
������ �
� ����	 ���	� 
��.  
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�� ��	 ,������ ����
� ����� ��� ��� 
����

  
����� 
����� ��

 ����� 
� ������O.  

��"	 ����� �-'O 
�����
� 
���������� 
������ ,�� �� ��

 ����� �� ������.  


���
�� ��

 
�	
 
� 	��� �� 
���� ��
�.  


�	�� 
���� 
�� ���	 ��� , 
����

� ����
� 
���	� ����� �� �� �����
 ��� 
�y: 

  

  

  

 ������� ������, ����� ����,  
�� 

�� �	���	 ������ ���
����

 ,  

 ����� �� ��
 �
���� �	����
 ���
 
����


 ����� ��y , ���� 
���
 ��� 2   
�����O.  

 
�����O , ����� ������
 ��� 	� ����

y  �����
� �����:     py,1 = –py,2.  

 
����� ��	 ������ 1 ������ ��
 �x � -y ,	����� 2  ����� ��
y ��	� ,
����


 ���� ��.  

���	� ,
 ��� 
����


 
��������� ����� �
�
����
 ����� 
� �����
 �� ��y.  

��
�

 �����, ������
 ��� 	� ����

 
� ����� ����
.  

  

 ���� ���� 	� 
���
�
 ����� ��� 
�1 �" �vx   �- vy.  
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	 ����� 
�� 
����'O ,�
 
� 
���
��vx  	 ����-O ,  

�� ��-'O ,	���� 2  ������� ��
x � -y ,	����� 1  ����� ��
y ��	�:  

  

�� ���� 
����

 �
� ��� 
������	 :� �����-O 	-'O ,
���� ��� �� ������
 ���	�
 ��

 	� ������
�
	� ����

.   

  

�-O ,
 ��� 	� ����
� �������
����   �
 
����


 
����� ��yp ,1∆ � -yp ,2∆.  

 ����� ��

 ����� ��	��� 
	������
� ����� ��
�:   

yy pp ,2,1 ∆−=∆  

  

 
������
 	�� 
����

�����
 �
�� 
����

 �
� ��� ,�� ������ ���:  

•  	� ��

 ���������  2  �-O   	� ��

 �����	 
������� 1 �-'O ,��
 ������ ��:  

yy pp ,1,2 '∆−=∆ 

 	���� 
�����
 
������ 
�� ����  

yy pp ,1,1 '∆=∆,  

���	� , ��

 ����� 	����� 1  

�
�����
 �
��.  

  

  ����� 		��
 ��

� ����y   ��
0 , ����� ������  ��

 ���� 	�1 
����

� ���� , ���


���� ��

�.   

 ��	 ��

 ����� �	�
��� �	��

 ��

 ������ �����	 .�����	 
���
 
�����
 
�����
 ��  

yy mvvfmvvf ')'(2)(2 22 −=−,  

 	� 
�����
�
 �
 
�����
�
 �������� 1  
�����
 �
��)
 
� �����
�-"1 "���	 ���.(  

� �����-  −2m:  
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yy vvfvvf ')'()( 22 =.  )��

 ����� 
����� ��	 ���� ,
����� 

�� ��	��� �� ��(  

	� �������� 1   ����� 
���
� ���� ���x  �-'O , ��  

yvv '' =,  

 ���
��
	 
���
 ��

 ����� 
�����  

( ) yyy vvfvvf '')( 22 =.  

  


���
� ���� 
����������
 		�� ��
�� 
�� ����
 ����	 �����:   

( )x

y

y
v

v
v

ββγ −
=

1)(
' ,  ����  β=vx  ����
 
���
� ��
.    

���	� ,    ( ) 22

2

11

1
'

x
x

x

v

v
v

v

v
v

y

yy

−
=

−

−
=

.  

��

 ����� 
������ 
�� ���� , 	����  

22

2

2

11
)(

x

y

x

y

y

v

v

v

v
fvvf

−�
�

�

�

�
�

�

�

−
= ,�� ,  ����� ���	vy  �����
 ����:  

)1  (22

2

2

1

1

1
)(

xx

y

vv

v
fvf

−�
�

�

�

�
�

�

�

−
=  

������ ������ 
������
 
� �
�� �� 
����� ���
� .  

 
������ �	 ����)1 (� 
�
��"    �2

2

1

1
)(

v
vf

−
= , ���
 
� ������ ���
� ��
�

  	���
( ) 10 =f .  

���
�
 
�� ����
	 ��� , ���� �
��
������ )1( , 	����) ���� ��
��� ���-

222

yx vvv +=(  

2

2

222 1

1

1
1

1

1

1

x

x

yyx v

v

vvv −

−
−

=
−−.  
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�
� �
��� ����
	 	� �"���� �� 	� 
���� 
�����

 �:  

( ) ( ) 222

2

2

22

2

2

11
1

11
1

1 yxx

x

y

xx

x

y
vvv

v

v
vv

v

v
−−=−

−
−−=−

�
�

�

�

�
�

�

�

−
−    �.�.	.  

����� �
�	 ,����
 ���� 
�	�� ���� �"���� ���� ���
�
� 
��
 � .
��		�
 
	��
 �		 �� ,

 
���� �		�
 ���
�
 
� ��
�	 �
��  

)(
1

1
)( 2

2

2
vg

v
vf

−
=,  

 ����)( 2
vg  ���

 
� 
�����
 
������ ��
1)0( =g ,���� ��� 
��)1 (
����
�.   

 
������ 
� ���
� 
��
)1 ( 
�
��  

)2  (( )
�
�

�

�

�
�

�

�

−
=

2

2

2

1 x

y

v

v
gvg.    

� �	 ���� 	� ��� 	� ����
222

yx vvv +=  	� ����� ����� ������ ���
�
2

2

1 x

y

v

v

−
 .  

  
����� ��)2 (   �� �	� ������ 
��
	 
	��� 
���( )2vg 
	� �������� 
��	
 �
	� ,���	� ,

( ) constvg =2
.  

 ���

�� ���� ��1)0( =g  ��������

	 ����� ( ) 12 =vg.  

���	� ,  ���
�
2

2

1

1
)(

v
vf

−
= ���� ��
.  

  

�� ��,   

)(
1

1
)(

2

2
v

v
vf γ=

−
=,  

���	� , ����
�
  

•  ����
�� 
�����
�����
�
 	�� ��

 ����� ��� , 

• � 
�����- f(v
2
)=1 � 	����������
,  

• 		�� �
����
 
�����
�
 ����� 
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�
����
 ��

 
� 	��	 ��� ,  

vmp
��

γ=  


���

 
� ��	��� 
�� ���
 	�� ,
�����
�
 	�� ����� ��

 �
�� ���� ��" 
� 	�	�� �� �

�������
 ��

.  

  

�� ���� 
�� �� 
���
	 ����"
����� ���� 
����

 � .  

�� 
����

	 �� 
���
� ��	���� �
����
 ��

 
����� ���� 
� ��
 
�		� 
����?  

��:  ��� �����	 	���� 
�
 
��� 
����

� ����� �	��� 
����� ������ ���
�
 
�����

��

 ���� ,�� 
����

 ���� ���
� 
�
 �	 
� ����� .  

�� 
����

 �����
 
� 
		��� 
���� 
���� 
��
� 

�
 ,
�		�
 �
����� 
� ��	�.  

  

�� ����  �
����
 ��
	 �����
 �
�� 
� ��	�����" ���
 �	�� ��� 	� ��
� �����
 
���� �

��� .  

 �� 
����� 
���������	�
 
��

 
����
� ����
�
 ��

 
����  
����� 	�� ��� ���
	

LE   ��
 ��
c

EL
.  

��� �
����
 ��

 
� ����� 
�� ,� 	��"��	� ���
���� ��	���� � , ����� �		


����������	��.  

  

  

������� ���
�� ���	
�  


�� 
� ������ ��
� 
����� 
����� .  

��	 ,��
	 
��� 
���
	 ������
� ��� ,
�����
 
�����	 
��� 
���
	 �����.  

  

� ���� 
���
 ����	 ,�� �	 ����
������� 
����� ,���	
�� 	���� ��� �� �����  

���
�� ��� �	��� 	���� ����� ���	
� .  

������ ����	 
�����
 ���� 
� 
���
 ���� 	��� �
�� 	� 
���� 
���� 
	�� 
��

.  

 ����� �
�� ����
	 �
��"
����� " ����� �	���
� 		 ,�� 
�
� �	 
� 	������.  
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������ ����� ,���� �� ����
� ������ ���� ��� �� ���
��� ���	
�� ��
���.   


�
���� 
������ �� ����
� 
� 		�� ����� .  

���	� ,
�����
 ����� ��� 
� ����� , ���
 	� 
���
 ��
���
 ��	 
����� 
���� ����

������ 	� ���
.  

  

  ��� ���� �� ���
 ��rd
�

    ��� ��	� 	���� ��
F
�

  ,��
 �	� 
�����
 
������ �����
 ��  

vpd
dt

rd
pdrd

dt

pd
rdFdK

��
�

��
�

��
⋅=⋅=⋅=⋅=.  

�
����
 ��

 ���� ������ 
����� ��
��  �����
 
� 	��	 ������
:   

( )
( ) �

�

�

	






�

�

−
+

−
=

��
�

�

�

��
�

�

�

−
=

2

3
2

2

2
1

22
111 v

vdv

v

vd
m

v

v
mdpd

���
�

  

 ��
 
�����
 
������ �����
 ��  

( )
( ) �

�

�

	






�

�

−
+

−

⋅
=

2

3
2

22

2
1

2
11 v

vdv

v

vdv
mdK

��

  

 ��
��� ���- ( )2

2
1 vdvdv =⋅

��
 �����
 �����:  

( ) ( )
( ) �

�

�

	






�

�

−
+

−
=

2

3
2

22

2
1

2

2

2
1

11 v

vdv

v

vd
mdK

  


 
� 
���
 �����-( )2

2
1 vd �������
 ��� 	� �
��� 
��� ����:  

( ) ( )
( )

( )
( )2

3

2

3

2

2

2
1

2

22

2

2
1

1

1

1

v

vmd

v

vv
vdmdK

−
=

�
�

�

	






�

�

−

+−
=

  


�����
 
�����
 	� 	��������
 �
� .  


��� 
�����
 
�����
 
� ����	 ��� ,	������ ���� 
�
 	��������
 	� .  
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�  ����- dK      
������ ��
�d(v
2
) , ��
 ���
 
��������
 
�
��v

2
.  

  

����
�� ����� ���  K=0  ����   ��
 
���
�
0 .   

  ��
 
��������
 ���� ��0  ���� 
� 	������
 
�	��� ���� 
��
	0    ��β2
 .���	�:  

( )
( )

( )11
1

1

11

2

0

2
0

2

2

2
1

2

2

2

3

−=
��
�

�

�

��
�

�

�
−

−
=

−
=

−
= 


γ

β
β

m
v

m

v

m
vd

v

m
K

  

�� �� ,��
 
�����
 ��
 ���
 	� 
���  

( )1−= γmK  

  

�	 
� ����� ��� �����	 �	 �����
 
� �
�� ���
�����	 
�� ��� ���:  

� ����� 
����� �	�� ��� ����)��� 	� 
����� �� 

�
 
����� (EL �	� 
����
 
����� 


����� �����,   

 �� 
�����'O   
���
�� 
���β ��	� ���� ,  

�
 
�����
 �	� 
����� 
���- ( )1−=∆ γLEK .  

� �
���
�� ���� -'O 

�
�
 �	 ,� 
��� �	� 
��
� ����
- LEm =∆.  

���	� , ��
 �	� 
�����
 
������ �����
( )1−∆=∆ γmK.  


����� 
�����	 �		�
 �����	 ���
� ��� 
�� ����� ��� 
��  ,( )1−= γmK.  

  

����� ���� ��� ,
����
 
�����
 
�����
 
� 
���� ��	��� �������
 ������:  

( ) 2

2

1
1 βγ mm ≈−.  
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��������� ���
��� ������ �� �
���� �� ���
:  

1. 
��: 

o ��� 	� 
���
 
��
	 
�� �����
 , 
����� 
��	
 
��� ��	�– �	�� ��
 .  

�	�� ��
� ���� ,�����
 	� 
��� 	� �������. 

o ��� 	� 
��
 
� ����	 ��� , ������� ������� �	� 
����
 
����	 ������

 ���������)F=ma 
���� 
���
�� ,���'.( 

o 
�����	 ��� 	� 
��
� �	� ���
	 �
��� ����� ,   ��	∆E = ∆m .  

 �
��� 
�����
 	� ��"��	�	 "    ��
 �� 
���� ���
�E = m. 

o  
����� ��� ����
���
�� 
��	
 
����� ,   �� m  	� 
����
 
����� ��


���
  :Erest = m. 

2. ��
  :  ��
 �
����
 ��

� �����vmp
��

γ=  ) ����γ = γ (v).( 

3. 
����� 
�����   :  ��
� �����( )1−= γmK. 

4. � -1  �-3       ��
 
�����
 	� ��� ��	���mKEE rest γ=+= 

  

��

 
�
p
�

 ,
�����
 E , 
�����
 
�����
�K �
��	 ���� 
���� 
�����
�� ���	� 	�:  

  

  

  

����� ��������� �� �  
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������ ��� ,� ��� 	� �
�� 
� ����	 �
��"
������� 
������ ����� � , 
���
 ��� ���
 ��
�

���	   ,F=ma ,
���� 
���
�� �����
 
� ������� ��� 	�.  

  

 
� �����	 
� ���
� �
����
�� 
����	, 	 �
���
���
� 	�� ����:  

� 
� ����	 ������ ��� ��
��
� .  

  
���
� �	 ����
	 ��� ��	� ���	 ��� 
����
 
� �����β .  

 
�����
 
�����	 
��� �� 
�����	�  ,)1( −= γmK ,    ����
2

1/1 βγ −=.  

� 
��
� 
��
 ��"     �
1−

=
γ

K
m.  

  

  

��������� ��	����  

  �����
��
�

�

�

�
�

�

�
−

−
= 1

1

1

2β
mK  
����� 
�����	 , ���
 
���
�� 	��� 
���	 �
��

 ���
 
���
�	 
���
�)1( , 
�����
 
�����
 
� ���	 ����
	 ��� 
����� �
��� �
�� 
����


����
 .  ���� ,  

	��� ��	���� ��� ����� ��� �����
�� ���	
� ���	�.  

���
 
���
�� ���	 	��� ���� ��� ���� 
����� �� 
���� ,
���� 
 ���� 
����
 
��
 	�"
��� "

� 
����
-1=β ,���
 
����

 
� 
�����	 ���
� ���� ����
 

��.  

  

  

 
����
��� �	���)������� ����� (���	
��� ����  

���� ��
�
� 
��� 
���� 
��
 
� ����
 ��������� .  

  
��
	 
�� ����
 ��
0mm γ= ,��� �0m ���
 	� 
����
 
�� 
����   

)��	� 
���
	 ���
 , 
�0mm =.(  

 ����������� 
���
 ��	 , ��
 
�		�
 
�����
 ���
)
����� �� �	( 
2

mcE =.  

�� 
���
 ��	 , 
��
 ��)
�����
 �� �	 (���� ������� 	���	 
����� 
	�� ���
 
���
�.  
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��	 
����� ��� 
����	������
 
� ��������� 	� �
���
 ���	 
���� �	�� 
���� �� 
��� .  

 
���
 ��� 
���� 
������ 
��� ��
 ������� 
� ,���� 
	���� 
��� ��	� .  

  


�� ���� ��� ����� ���
 	� 
��	�� 
���
� ���� 
�� ����� ����
	 �
�� ������ ,  


��
 ���  ��
 
����� 	� ���– ���
�  ���
 	� 
�����
 
�����	������ ���  .  

�� , 
����� 	� �
��� 
����
 
���
� 
�	
�� 
��– 
���� 
���� ��� ���� ��
 
�����.  

  


� ���� 
���
 ���� �� 
������� 
������ ��� �	 ���� .  

 
������ 
��� 
����� 
����� ��� ���
 
� ���	 ��	��� �� �� 
���

E=mX ,  

 ����X ���� �� �
�	� ���� ��
����� 	� � 
���
�,  

� 
��
m    ��	 �
���
� �� 
	�� ���
 	�m = m0(v/c)
2

 .  


	��
 
� ������ ���� 	�	�� ����.  


